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PRIMARY 2
MATHEMATICS
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Do not open the booklet ::E you are told to do so.

Follow all instructions.
Answer all questions.

Name L ( }o

Class _ : Primary Nll.;il - Marks:

~ 100

- ..,Wqu:H.w Signature

2 A.._um»m




mmnao: A(20x2 Emaxwv
Choose the correct answer: ﬁo_, mmo:

brackets provided.

1. mhm :czaﬁmam 2 tens 7 ones :mm 50 same value as

1) ._ON o o
3) 728 o :
4) wmmﬂ, P

L
~
St

2. 286is__ less than 386. L

1) 1
2) 10

4) 100 | : )

i r

3. +38= 684

1) 556 . ‘ S ]

2) 646 A

3) 654 .

4y 722 (i )
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305¢ is the same as

1)  $3.05
2) $3.50

3) $30.05

4)  $30.50

9 ¢ < v A v :
4+4+4+4+4+4= - X 4
1) 28

2) 24

3) 7

4) 6

Jane bought 32 egg tarts. She put4 tarts in a box. How inany boxes

did she use to put ali her tarts?

1) 6
2) 8
3) 28
4) 36

F+ T+l +P+7+0+0 =35
’ - J+J= i A

Ei .
.

1) 5 "
2) 7
3) 10
4) 14

-20f20 ~




8.  WWhat fraction of the figure is shaded?

TN
~—
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oo

3
3 —_

4y = | ( )

1 —
..Mv 2 i}

~3)

4)

—~—
~—
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11. Each cwm of flour has fhe same mass.

R T P LI}

T 00g

What is the mass of 3 bags of ﬁ_ociV _—
1) 100g o ” .
2) 5009 T -

3)  600g SE R o

4) 800g R S T
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12. The height of the teacher’s table is about n

1) 8cm

2) 80 cm

3) 8m : B

4)  80m _ L ( )

._u.mmo: _m_, :o_qmz_mmmam:cacm.,o,ﬁ Bm:u_mm. _:H:mﬁmcmm cm_osﬂ Esm:m
the missing number? :

Number of jars N 3 ] a4 5

Number of marbles 12 ? ‘ 24 30
1) 18

L2y 21 : :
4 6 | ( )

14.  What is the timé shown on the clock Um_os_.@

1) 445 pm.

2) 545 p.m.
3)  9.20 p.m. |
4) 925 pm. . v
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TS ~At-a boek sale, all ter-dolla n,.uoohxm_..qémﬁm_,m.mo,:.‘.m_o_%..mm -cheaper. Jill+
“bought 10 such books at.the-sale. How much did she pay for them?

2) - $16
3) 0§20 R
4) + $80 - . i (. )

16.. m.ﬁrm time fiow is 12 noon. What was 30 minutes before noon?

H i
H
H
3
i

1 11.30am.

2)  11.30 p.m.

3) 12.30 am. | o

4) 1230 p.m. . | v 2)

17. 630am.is_ | 6.00 a.m.

1) 30 minutes before

2) 30 minutes after . -

3) 1 hour before . . “
4} 1 hour after - )
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eded-to:hold-the waterfrom the container?

Heow.many-2¢ bottles-are.ne

-7of20-

o see e - 2Ubottle ., u
1) 10 |
Nv N ) ) ..A . - i ! H
3) 8 . P
4) 4 : ,. _ ¢ )
)
Lo m 4
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20. John wants to buy the water bottle. Which is:the-correct amourit-he:
must pay? R A SN ETR Rt
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mmoﬂ_o: _w Baxnamﬁxﬂ ...,......,,”.x..
Fill i in the blanks with the oo:.moﬁ m:mém_.m ean T

- 21. Write nine hundred and four in numerals.

Answer:

22 h 950 qh Jﬁ 550 wﬁ mmo g

Write ﬂ_,.m B_mm_:@ :csvmq

Answer:

@ €.

What is the value of X > =2

Answer:
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24. Findthevalugof —— + 2~ L
12 - 12 A .
Answer: _
- 25. Afrange this sef of fractions in order.
_ Begin with the greatest.
18 8
9 ' 9 9
5 - Answers: ... ,.

- ( greatest

26. Study the picture below-carefully.
What is the mass of the chicken?

Answer: _

P2 END-OF-YEAR EXAM 2010 .
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N‘N‘ Pam’s mass is 28 kg. Sheis 3 kg rmmSmﬂ H:m: Nm:

What is Zen's Bmmme

U T Asiver: |

28.  Study the table below carefully.

Names of Boys ' =

Mass

" Dan .

24 kg

Eric

35 kg

Ken

TTTAS kg

‘ Tim

What is the total mass of the heaviest boy and the lightest boy? .

..>,=m<<mn

kg

' P2 END-OE-YEAR EXAM 2010
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. *29.. Findthe missing number: -

8 0 8

.I\.vhm

4 5

g

/

Answer;

i

30.  Harry bought a T-shirt-for $18. He received the foliowing amount as

change. How much did he give the shopkeeper?

Shirt Harry bought

$18 |-

.2z . Change received

$10°

$5

_$10

$2

$2

1de

Answer: $
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31. Mr Kumar bought 5 £ of paint. After painting 1 amaao:. ‘he: :ma 2 tof

,;‘ Um_::mm_._oiacorao_.m um_:” must he cc< to paint m:oﬂrm_, bedroom
: - of the same size? .

Answer:; .

Answer: . °  min

s din Lo man,
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wu...ﬁrmﬁ_am mroéz e:%m?ﬂ o_ooxdm_oé_mwo Bﬁcwmm _nmwﬁ _u..mé Hsm
hands on the other clock to mroé the correcttime. ey

'34. MrTan Uoco,r” 6 old Eo<o_mmmm and tricycles altogether.
He changed all the wheels of these bicycles. and tricycles with 14 new
wheels. How many bicycles and how many tricycles did he buy?

bicycle | tricycle

Answer: bicycles

- . Micycles

P2 END-OF-YEAR EXAM 2010
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35.. . Jan:hought-a sliceof cake. .oo_o:q Em coins 8 m:oé the -
oo:moﬂ amount she. um.a

1A A s 3 B s e e s
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. This graph shows:how. the: pupils:of:Primary M_s._@o to-school:
Study the graph below and answer Questions 36, 37 and 38.

How Em Go ..._.c“m.u:oo__ B

. o
DRI P -
A
Vs . -

T semea d . N
BT by - B

‘ - P - H

0 B G 0

0O
Each 0 stands for 3 pupils.

36. There are 30 pupils in the class. Complete the graph by drawing
O to show the number of pupils who walk to school. N
37. How many pupils do not walk to school ? ,
Answer: _pupils

- 38. How many more pupils go to school by school bus than by car?

Answer: __more

P2 END-OF-YEAR EXAM 2010 ot .
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39. What is the total length of the u_._m"amm_.,._msa the vw:. of scissors? - -

. P . PR L . - oL R L I
T - . .
— . . — a — A. — n _ ' _

1cm 2cm " 3ém ¢ dem’ T 5cem 6 cm

RARBAGREERO A

IRRARRELAIE RN AS Nt

.
§ o -
:
:

Answer: % s " ©m

1nsnsssnganans QRAAANERREREARKERRNAN

ar

m :
.

40.  How many {3 of soup will fill the pot?-

sSCoops

' P2 END-OF-YEAR EXAM 2010
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Section C (5 x 4 marks)
m:oi your Eonx_:mmao_mm&‘ in the- Mﬁmom @Em:. e

T
Pl N

£

41. Angie had some Ucmo:m- 1 mm of 5&3 Wwere’ qma mza Sm rest were

green. There were 24 more green buttons than red Ucmo:m How
many buttons were there altogether?

42. 4 tins of biscuits cost $20. |
a) How much does 1 tin of biscuits cost? .

:b)  Grandma cm:mg 6 tins of biscuits. B
How much did she pay for the 6 tins of biscuits?

P2 END-OF-YEAR EXAM 2010 | S -
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43. Abox sﬁ: 3 tins:of cookies: :mm a mass oﬁ wme m
. Each tin of cookies has a miass of moo @ o
m_:m_ the.mass of the-box:. :

ﬁ >:3€ Suzy paid $16 for 6 Bcasm m:a 2 chicken pies.
. - HoW much did the 2 chicken: pies cost?

muffins 3 for $5

£2 END-OF-YEAR EXAM 2010
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Am.. mw:% the picture betow carefully. Answer .n:.m.m:.o: 45 (a) and (h).

250
@ m Playground

Market

.:3 s house

mmv Io& much further i is the market from Em playground than from Tim's
:o:mmo

PRRTTTTNY

{b) Tim walks from his house to the pfayground and back to his :mrmm
mmm,: along the same route. How *m_, does he walk?

romimimsmmiminimimanndEnd Of Paper ~mommmmmm

Have you checked your work carefully?
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EXAM PAPER 2010

SCHOOL : AI TONG PRIMARY
SUBJECT : PRIMARY 2 MATHEMATICS

TERM : SA2"

QL[ Q2|03 Q4] 05[06] 07 08 09 ]010]0Q11]0Q12[013[Q14]Q15[Qi6] 017
4| a4 | 2|1 al 23 (3 [al2{3 21 1]al1]2
Q18] 019020

4 | a | 2

21) 904 22) 750 23)93  24)9/12 25) 8/9, 6/9, 1/9

26) 700 27) 25 28) 65 29) 349 30) 50

31) 1 32) 15

33)

{
i
]

| . .A
34) 4 bicycles, 2 tricycles
35) 3 twenty-cent coins, 1 fifty-cent coin, 1 ten-cent coin and 1 five-cent coin

36) 24 37) 24 38) 3 39) 7 40) 10
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41) 126 + 24 = 150
126 + 150 = 276

42a)$20 - 4 = 5

42b) 6 x $5 = $30

43) 3 x 2009 = 600g
750g — 600 = 150q

44) $5 + $5 = $10
$16 -$10 = 36

45a3)250m—-125m = 125 m

45b) 250 m - 125 m = 375 m
375 mx2=750m
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